EARAROBEEIERT — 2 N— IBISH —F

201551160 (£) 10EAE4E

N xiis v5%3%

‘ [R1%] & ‘ [REBE] — | % (&) 12000 AR

[A&4£] 17 :1,400,000 @ 23 :420,000 @ 33 :252,000  ~ 4 3#&:168,000 @ . 5 7 :140,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 5 AHIEE 4. -5 . — EEEY (M1E)
1 2 ZhHy Y "3 56.0 1(1_4)6 556 %2 ! :259) Eﬂifﬁiﬁ "
:d—IR7Ya2—) B:Ox>yI-)b (B) HBEa-KL—-—ra>aEI77
= IS 4 3 | HFEA 1:14.9 3-3-3 |38.7| — 8 476 | WAZE (A04E)
21718 T2 RNT> 56.0 (11/2) (+6) REZ
L:Z2v—bR—a B:Za21-A"~T> VA ¢
. it 3 | JIISIEAER :14.9 9-7-7 |38.4| — 2 508 | EEETAK (fafR)
305|5|7FF 74— * 56.0 (F) (1) | P
LA xY v bV BN T—A T T INL T i
: — — . o - )
6| T-/n5814- G G SRR R VG (e
R:77NT5YT B/ LFTFRAAHE— Al BREE
N = _ 3 43 | EEfE— 1:15.2 1-1-1 39.3 — 3 46 | AN GE)
5 3| Y—7—x3 54.0 (1 1/2) (s | W) TR T xy—
RYIRT 4 TSR BT RN, Y — HAFEEARS
= rf 4 3 | RES 1:15.4 7-9-9 |38.5| — 6 474 | EHSE (0AB)
6|8[10| X7 FIFT1—F 54.0 (/4) (g) | ESH
R:28—-)>70-X B:¥>RKNn—7 AR RSB
N EFREA : -10- - EEH (ffE)
7lgl g | NYTHEDY 3 o= 1.(125>.8 10-10-10 | 38.5 10 <4+753) i
L:T77NTTT BT L— BR=tt 71X
S \ 4 3 | AEEX 1:16.1 8-6-8 |39.6| — 9 476 | 1EAKBL ()HE)
Eﬂ 4| NV =TLAN- = (11/2) o |EBEEX
LRI RTRIL BIARTy hSF— H TS
o fHaAEsE : -0 — ARG (fafE)
ol7|7|a7L vy — it 3 A8 1(.31/%2 2-2-2 | 40.0 7 :1_561) el
LT RIAYS vy B:TF5 /5151 — =15 BK
N . RER :16. —4- . — HEAN (ot
1011 |TF-WExvyF I 5.0 1216)4 45400 ° :?;) EHE
R:BA LT Ry TR B:IVIUSRY LB 7 7 — 4
® 1—F—@EBIERL
13—7-—
2a=5F= 3,7,8,1,2,6,10,4,5,9
Ja=5= 3,7,8,1,2,4,5,6,10,9
43—+ — 3,7,8,6,1,2,5,4,10,9
[ N5
B 2 1,470 714K 2-8 4,210 e E 2-7 9,150/ JEE 2-5-8 17,100
B B 2 280M 2= 650 e B 2-7 32,880H EE 2-8-5 253,430
8 920H 5-8 2,110 B & 2-8 28,690M
5 1909 B H 2-8 40,7904

ABICOVWTRDTEEERROODE. TR LIV,




